EARAROBEEIERT — 2 N— IBISH —F

20185F8H27H (A) 10EAFH1H

LV > %—fx C2—=m

‘ [R1&] & ‘ [RERBE] — | & (£) 12000 B

[AE<] 1 7% :1,000,000 § 2 7&:400,000 § 3 #&:250,000 4

4 7% 150,000 . 5 3& : 100,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
NS R PAENE S :15. — . — FHEHFAR (KFH)
1112 AbL2TY—%2 o 540 1(1_5)6 o8 9 A f_ﬂi B
RiY9RG4 ISR BNMTLAYaCR ey ¢
S 4 5 | )3 1:15.7 9-9 39.3| — 1 469 | AEFMH (KH)
27|13 ¥V IEVI ¥ 54.0 (7€) (o) |EOBEE
L:TUHL XTI R B:T79V7F Ealip e
¢ . > HEZ : - — SAREL (KH)
JARHF KE x5 | BE (17;12% 10-10 | 39.3 5 <4+25> i kes
R:T7I1aTF45—FT4>7 B FLIA-IL Eld=tie ]
. RHEY ] N _ SIEEE (A3H)
g T K= 4| Z 1(,1\57-)7 &3 %9 8 ::547) S
x4 B MLFLFa BB 7—L
N AHIESE :15. — . — Wil (KH)
Y JFINA — 4 6 &% 1(/1\5’_)7 7-6 39.6 2 (5_119) %K?
R:Tv A7 hyh— BTE-4NLT— N T =i
LHEfEA : — - A (KH)
KA HT7—Z k "5 50 LRy Ze (M2 ¢ (4+274) INEF
R:772AUI7 B:A TrxyY HE ik
= o4 | HIBR 1:16.0 12-11 39.2| — 12 | 415 |HYBEZ (KH#)
717114 F—=bw145147 54.0 A 1/4) -3) EHAE(E
ixA1ZTyr—2 B:RU—LT1—FZX Pilatse]
i S 44 | SEHEK 1:16.5 14-13  [39.5| — 15 448 | BEAIFDE (KFH)
8|8|15| 717 MY —/NT— 5.0 @ 172 Gy |
ENTITFANRT S BENTI AN vIL NEEEE k45
LRy S 4 o4 | BIBXS 1:16.5 5-7 40.4| — 6 467 | BHEE (KH)
9/5]9 R N 54.0 (74%) (1) ETJHI%;}
b4 87 )Ty B:Tavxy/NF KEHIS
s = o4 | EKRER 1:16.5 4-4 40.7| — 10 | 456 |MBERE (KH)
10/5/10| 7177 Ax/— b 56.0 ") o | T
LHIRT TR BxeXoqM4 A
(PN : - - FRAN—3 (KFH)
1leligl FavTA7L—0 it 5 S 11\%5 11-14 | 39.7 7 <4+312) EEEFB%;
:FhVY~xT71xX8 BiFxaUIAIILAZX BRYUS
s o4 | REIRRE 1:16.6 1-1 na|l - 9 446 | NEFIIR (KFH)
12 3 <~ HIL 56.0 (1/2) (-4) TRZE
R:4g/od—d— B:eV—-NMZxX ETITI 7N
N # o5 | REEE 1:16.7 1312 | 39.8| — 14 | 488 | AREEZ (XH#H)
1311 T*37Y 5.0 (1/2) (o) |BBET
RTIRAFTEN BFrafNTITT— BEIZY K
=8, s 4 5 | AKfEt 1:16.9 15-15  [39.4| — 11 470 | BEEH (KH)
140 12| 77> v 7R 54.0 (3/4) (1) | AT
x> ind4O— B:EHIEA T EBS
5 5 B 5 | PREFE 1:17.4 6-5 N3 - 8 449 | FILEFEE (KH)
sl g| JL—RT=7 54.0 2 1/2) (-5) | NERF
R:77NT50 B:xxiLvO—/N— KIFEBHS
= — s 7 | RllEHD - - - - - 443 | 1EEFH#RZ (KH)
Tk 7|Ty¥A=Xx 5.0 (B854 (+4) | FOERTESE
L:YZRE—32248— B:IvNANEZXZX e5ragie
® I —F—@EBIERL
13—7—
23—7F—
G§a=7r= 3,6,4,10,9,8,11,2,13,5,16,14,1,15,12
41—+ — 3,6,4,10,8,11,9,2,13,5,14,1,15,16,12
[ RN
B OB 2 11,350 714K 2-13 5,020 e & 1-7 7,940M &R 2-5-13 46,350
8 B 2 1,860 2-5 11,330 B 1-7 38,270M JEH 2-13-5 502,160M
13 130M4 5-13 630 B E 2-13 11,890
5 370M B H 2-13 44,760M

ABICOVWTRDTEEERROODE. TR LIV,



